
 

 

Answer on Question #66321 – Math –  Statistics and Probability 

Question 
 Evaluate #2 and #3 in light of #1 being true. 

 

1.It's been reported that the mean height for an American female is 64 inches with a 

standard deviation of 3 inches. 

2. Since the mean height equals the median height and the interquartile range = 1.3 

standard deviations, we can safely assume the data normally distributed. 

3. Therefore, the percentage of women greater than 72 inches would be less than 

½%. 
 

Solution 
 
2.  For the normal distribution  𝐼𝑄𝑅 = 1.349𝜎. So the distribution of data is 

approximately normal. 

 

3.  𝑃(𝑋 > 72) = 𝑃 (𝑍 >
𝑥−𝜇

𝜎
=

72−64

3
) = 𝑃(𝑍 > 2.67) = 1 − 𝑃(𝑍 < 2.67) = 

 = 1 − 0.9962 = 0.0038 = 0.38% < 0.5%. 
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